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P(t) =Asin(2mt ft) (1+sin(2mtgt))
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4.1 ]
4.1.1
4.1.2
4.1
44.1kHz 800msec
B(SPL)
4.1a 4.1d
YAMAHA-MIDI-XG-Sound
Stimulusl.1 Program No49 -String Ensemblel-
Stimulusl.2 Program Nol17 -Drawbar Organ-
Stimulusl1.3 Program No74 -Flute-
Stimulusl1.4 Program No41l -Violin-

4.1
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4.1.4
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3|5 |5 [™J]5 g | o |3 [™~J|3 3 |8 |7 [™J10
4 | 7|8 |5 4 ol 4|7 4 |5 |2 |o
[ R [ [Eh) R [Raind]
7 g 3
Si> 5i Si>5i Si> Si
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4.3
Si S ( Si) > ( Sj)
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Stimulusl.1 Stimulusl1.4 Stimulusl1.3 Stimulusl1.2

stimulusl.l  stimulusl.4

Stimulusl.1

Stimulusl.1
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4.2 ]
4.2.1
3.2.2
4.2.2
3.1 3.2.2
4.2 4.4a 4.4e
44 1kHz 500msec 1000Hz
70dB(SPL)
2.1
2.2 Dam:0.2 , fam:6
2.3 Dfm:]. , ffm:6
2.4 AT=1000, DC=10, Sus=0.5
25 Ana=0.1
4.2
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4.4b Stimulus2.2
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ELEEr 2 B0H)

[BLigEEY (< B0Hz>

4.4c Stimulus2.4
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3.2.2 MATLAB
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4.2.4
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iNg |1 2 3 5 ™ 1 o 3 4 5
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3 14 BiiTwW 11 3 11 B | o] s | 4
4 17 g 13 | ™~ 18 3 g 8 Mia Tk
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Si i ( Si) > ( Si)
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4.5
( Si) > ( Sj) 4.6

4.7a 4.7d
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I TZELE] (Si»Sil I TEdiuiEEl (5> 3i)
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4 B85 45 G5 \ a0 q 45 400 a5 \ 4]8]
] a5 20 A5 20 5 20 15 15 40
I [BAZZ) (3i>si) IV [#®&] (Si>S))
gl o 3 4 5 ing | i 3 4 5
1 ™| 50 |85 | 5 | 45 1 [™>~.|55 |60 |15 | 30
2 | s0 [™] e |10 | 45 2 | 45 ™| 50 | 10 | 40
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2 104 | 0 |-068|-012 | -084 3
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4 | -1o04| 012 |-038| o |-o84 05 | .o.- Stimulus2.3
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Stimulus2.4

Stimulus2.4
Stimulus2.5
Stimulus2.2

3.2.2

3.2.2
3.2.1
1000
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4.3

4.3.1
4.3.2
4.3
4.8a 4.8e 44 1kHz
500msec
1000Hz
70dB(SPL)

3.1
3.2 2
3.3 1/2
3.4 2
3.5 1/2
3.6 AT=500, DC=20, Sus=0.5
3.7 AT=10, DC=0.01, Sus=0.5
3.8 Dam=0.5, fam=6
3.9 Dam=1, fam=12
3.10 Dim=1, fim=10
311 Dm=10, fim=1
3.12 Dim=10, fim=10
3.13 Ana=0.1
3.14 Ana=1

4.3
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BRA = 10msec)
Bl = B0 Hz)
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[BlREEN = BOH
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46

ELEET > B0Hz
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BFRE < 10mzec)
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BLFEE (= B0Hz)
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Bl > B0Hz)

BLFET (> B0Hz)

4.8h Stimulus3.8

48



iy
i

100

B ¢ 1 Omsec) 20
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150
100

50

=
50

BSFRA ¢ 10mzec
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4.10j Stimulus3.10
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BRE ¢ 10mzec
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oEE
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4.101 Stimulus3.12
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-

180

100

BRAC = 1 0msec
BLREER < B0 H)

4.10m Stimulus3.13

BLFEE (= B0Hz)

4.10n Stimulus3.14
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4.3.3
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4.3.4

4.4a 4.4i
3 -2 -1 0 1 2 3
Stimulus3.2 0.4 0.49
Stimulus3.3 -0.2 0.75
Stimulus3.4 0 0.89
Stimulus3.5 -04 0.49
Stimulus3.6 1.0 1.10
Stimulus3.7 0.4 0.80
Stimulus3.8 1.8 0.75
Stimulus3.9 -0.4 1.02
Stimulus3.10 -0.2 1.17
Stimulus3.11 -1.0 0.89
Stimulus3.12 -1.4 1.36
Stimulus3.13 -0.6 1.50
Stimulus3.14 -0.4 1.20

4.4a
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-3 -1 2 3
Stimulus3.2 0.8 0.75
Stimulus3.3 -0.2 0.40
Stimulus3.4 1.8 0.75
Stimulus3.5 -0.6 0.49
Stimulus3.6 0.2 1.33
Stimulus3.7 0.4 0.80
Stimulus3.8 2.4 0.49
Stimulus3.9 -0.6 1.36
Stimulus3.10 -0.6 1.02
Stimulus3.11 -0.4 0.49
Stimulus3.12 -0.6 1.74
Stimulus3.13 -1.2 1.17
Stimulus3.14 -0.2 0.75

4.4b

-3 -1 2 3
Stimulus3.2 0 0.63
Stimulus3.3 0.2 0.40
Stimulus3.4 -1.4 0.80
Stimulus3.5 -0.2 0.40
Stimulus3.6 0.2 1.60
Stimulus3.7 0 1.10
Stimulus3.8 1.0 1.67
Stimulus3.9 1.0 1.10
Stimulus3.10 0.4 1.02
Stimulus3.11 0 0.63
Stimulus3.12 1.0 0.89
Stimulus3.13 -0.6 1.20
Stimulus3.14 -0.6 1.02

4.4c
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-3 -2 -1 2 3
Stimulus3.2 2.4 0.49
Stimulus3.3 -2.0 0.63
Stimulus3.4 1.0 1.41
Stimulus3.5 -1.2 1.17
Stimulus3.6 0.6 0.49
Stimulus3.7 -2.0 0.89
Stimulus3.8 0 0.89
Stimulus3.9 0.2 0.75
Stimulus3.10 -0.8 0.75
Stimulus3.11 -1.4 1.50
Stimulus3.12 -1.0 0.63
Stimulus3.13 -0.4 1.50
Stimulus3.14 0.4 1.02

4.4d
-3 -2 -1 3

Stimulus3.2 -0.4 0.49
Stimulus3.3 0.8 0.75
Stimulus3.4 1.0 1.67
Stimulus3.5 0.2 1.33
Stimulus3.6 0 1.67
Stimulus3.7 0 1.41
Stimulus3.8 -1.6 1.02
Stimulus3.9 -1.0 0.89
Stimulus3.10 -1.6 0.49
Stimulus3.11 0 0.63
Stimulus3.12 -1.6 0.49
Stimulus3.13 0.8 1.17
Stimulus3.14 0.6 1.20
4.4e
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-3 -2 -1 2 3
Stimulus3.2 1.0 1.41
Stimulus3.3 -0.6 1.02
Stimulus3.4 14 1.36
Stimulus3.5 -1.6 1.02
Stimulus3.6 2.0 1.10
Stimulus3.7 -1.8 0.40
Stimulus3.8 -0.2 2.32
Stimulus3.9 0.4 1.02
Stimulus3.10 -1.0 1.10
Stimulus3.11 -0.8 0.75
Stimulus3.12 -1.8 0.98
Stimulus3.13 1.2 1.17
Stimulus3.14 1.0 1.10

4.4f
-3 -2 -1 3
Stimulus3.2 1.6 0.80
Stimulus3.3 -1.0 0
Stimulus3.4 2.4 0.49
Stimulus3.5 -2.0 0.89
Stimulus3.6 1.8 0.75
Stimulus3.7 -0.6 0.80
Stimulus3.8 1.2 1.47
Stimulus3.9 1.0 0.89
Stimulus3.10 -0.2 0.75
Stimulus3.11 -0.2 0.75
Stimulus3.12 0.4 1.02
Stimulus3.13 0.4 1.62
Stimulus3.14 1.2 1.32
4.4g
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-3 -2 -1 3
Stimulus3.2 1.4 1.36
Stimulus3.3 -0.8 0.40
Stimulus3.4 14 1.85
Stimulus3.5 -1.6 0.80
Stimulus3.6 1.6 1.02
Stimulus3.7 -0.6 0.80
Stimulus3.8 -0.2 0.40
Stimulus3.9 -0.4 1.36
Stimulus3.10 -1.0 0.89
Stimulus3.11 -1.2 1.72
Stimulus3.12 -1.0 1.26
Stimulus3.13 0.2 1.72
Stimulus3.14 1.0 1.20

4.4h

-3 -2 -1 3
Stimulus3.2 0 1.10
Stimulus3.3 0.6 1.50
Stimulus3.4 1.8 1.17
Stimulus3.5 -1.2 0.40
Stimulus3.6 0.8 1.17
Stimulus3.7 1.0 0
Stimulus3.8 1.2 0.75
Stimulus3.9 04 1.02
Stimulus3.10 0 0.63
Stimulus3.11 0 0
Stimulus3.12 0.8 0.75
Stimulus3.13 0.4 1.36
Stimulus3.14 04 1.02

4.4i

57




4.5

Stimulus3.2 | Stimulus3.3 | Stimulus3.4 | Stimulus3.5

0.4 -0.2 0 -0.4
(0.49) (0.75) (0.89) (0.49)

0.8 -0.2 1.8 -0.6
(0.75) (0.40) (0.75) (0.49)

0 0.2 -1.4 -0.2
(0.63) (0.40) (0.80) (0.40)

2.4 -2.0 1.0 -1.2
(0.49) (0.63) (1.41) (1.17)

-0.4 0.8 1.0 0.2
(0.49) (0.75) (1.67) (1.33)

1.0 -0.6 1.4 -1.6
(1.42) (2.02) (1.36) (1.02)

1.6 -1.0 2.4 -2.0
(0.80) (0) (0.49) (0.89)

1.4 -0.8 1.4 -1.6
(1.36) (0.40) (1.85) (0.80)

0 0.6 1.8 -1.2
(1.42) (2.50) (2.17) (0.40)

4.5
( )
64 76dB(SPL)
500 2000Hz
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3.2.2

4.4a 4.4i

4.10

5.1

1000H,500msec
3.2

Reset
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“ ” A 1 O
w " 2500 250
“Attack” AT 500 10
“Decay” DC 20 0.001
Sus 0.5
“AM Depth” Dam 1 0
“AM Freq” fam 20 0
“FM Depth” Dtm 20 0
“FM Freqg” frm 20 0
« " Ana 1 0
5.1 ( Hz)
5.2
6
521
A=Ao 10(12 na/20) (na=-5,4,-3,-2,-1,0,1, 2, 3,4,5)
A
Ao

I+

1.2dB(SPL) Na=t 5
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+ 6 B(SPL) Stimulus3.2
Stimulus3.3

A=Ao 70dB(SPL)
na:O
f=fo (2) (nf=-5,4,-3,-2,-1,0, 1, 2, 3, 4, 5)
f (H2)
fo (=1000Hz)
Pt AL ns =5 2
n{=>5 1/2 Stimulus3.4  Stimulus3.5
3.1 1000Hz n=0
3.2.2
AT =110- 20Nnat (nat=0,1,2,3,4,5)
DC= 2ngc (Nnec=0,1,2,3,4,5)
Ngc =0 DC=0.001
Sus=0.5
Nat=0, N4c=0 AT 110 10 DC 20 0.001
Sus AT Nat
DC Ndc Stimulus3.6 DC=20
Stimulus3.7 AT=10 Nat
Stimulus3.7 Ndc
Sus Stimulus3.6
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3.2.2

Dam = 0.1nam (nam = O, 11 2, 3, 41 5)

fam=6 (HZ)
fam Dam 0 05 Nam=5
Dam=0.5 Stimulus3.8 Nam=0
3.2.2

Dfm = 2nfm (nfm = 0| 11 2) 3! 41 5)

frm = 10 (H2)

frm Dm 0 10 Nim = 5

Dim=0.5 Stimulus3.12 Nfm=0
3.2.2

Ana=0.2nna  (Mha=0,1,2,3,4,5)

Ana 0 10 Nha = 5 Ana=1.0
Stimulus3.14 Nha=0
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5.2.2

521
5.2
St3.2 St3.3 St3.4 St3.5 St3.6 St3.7 St3.8 St3.12 St3.14
0.4 -0.2 0 -0.4 1.0 04 1.8 -1.4 -0.4
(0.49) (0.75) (0.89) (0.49) (1.10) (0.80) (0.75) (1.36) (1.20)
0.8 -0.2 1.8 -0.6 0.2 04 2.4 -0.6 -0.2
(0.75) (0.40) (0.75) (0.49) (1.33) (0.80) (0.49) (1.74) (0.75)
0 0.2 1.4 -0.2 0.2 0 1.0 1.0 -0.6
(0.63) (0.40) (0.80) (0.40) (1.60) (1.10) | @.67) (0.89) (1.02)
2.4 -2.0 1.0 -1.2 0.6 -2.0 0 -1.0 04
(0.49) (0.63) (1.41) (1.17) (0.49) (0.89) (0.89) (0.63) (1.02)
04 038 1.0 0.2 0 0 16 16 0.6
(0.49) (0.75) (1.67) (1.33) (1.67) (1.41) (1.02) (0.49) (1.20)
1.0 -0.6 1.4 1.6 2.0 -1.8 -0.2 -1.8 1.0
(1.41) (1.02) (1.36) (1.02) (1.10) (0.40) (2.32) (0.98) (1.10)
16 1.0 24 2.0 18 06 12 04 12
(1.36) (0) (0.49) (0.89) (0.75) (0.80) (1.47) (1.02) (1.32)
1.4 -0.8 1.4 -1.6 1.6 -0.6 -0.2 -1.0 1.0
(1.10) (0.40) (1.85) (0.80) (1.02) (0.80) | (0.40) (1.26) (1.20)
0 0.6 18 1.2 0.8 1.0 12 038 04
(1.36) (1.50) (1.17) (0.40) (1.17) (0) (0.75) (0.75) (1.02)
52
St  Stimulus ,
5.2
+ 0
0
+ 5.2
+ . 0
) ( 0
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5.2




5,3a

5.3b

Ana

Dtm

Dam

DC

AT

5.3a

Ana

Dtm

Dam

DC

AT

5.3a
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34
5.2

5.3a,5,3b

5.2.1

5.2.3

dc Nam

DC=2, Dam=0.1

Ndc  Nam 1

5.21
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()

DC Dam

Dfm

5.22

n=5

Nfm



6.1

64 70 B
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500 2000Hz



AT
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AT DC

AT
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6.2
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